p.84 Answer Key 
Use Commutative Property on #1-4.
1.  68
2.  10.8
3.  -900
4.  420

5.  644,160 ft

6.  -39
7.  42
8.  490

9.  28.21

10.  2x – 6
11.  -5y – 20
12.  36p + 28
13.  -18 + 6m

14.  (12x + 4) u2
15.  terms:  12x, 5, 3x
    like terms:  12x, 3x;
   coefficients:  12, 3;
      constants:  5

16.

terms:  9, a, -2, -7a;
      like terms:  9, -2 and a, -7a;
      coefficients:  1, -7;
      constants:  9, -2
#17-18 are similar to #15-16.
17.
18.

19.  5x + 21
20.  –y + 12
21.  9t – 1
22.  -12

